Answers to non-VR week 17
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Reflected shapes must be exactly the same. Eliminate any that are different.
Eliminate D. The image must be ‘inverted.” Eliminate B. Any gap between the
object and the mirror line will be reflected. Eliminate C. Answer: B

Reflected shapes must be the same. Diagonals will appear to change direction,
because what is nearest to the mirror will remain nearest and what is furthest
away will remain furthest away, so the shape will seem to “flip’ from left to
right. Eliminate A. The image must be the same size and shape: Eliminate B and
D. Answer C.



